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QUESTION NO: 1 
 
What does Business Activity Monitoring encompass?
 
 
 
A. Measuring business performance. 
B. Observing real-time and completed business processes 
C. Analyzing business plans 
D. Reporting on business operations 
E. Planning business organizations. 
F. Funding business operations. 
 

Answer: A,B,D

Explanation:  

 

 

QUESTION NO: 2 
 
An existing monitor model is deployed to the test server. The solution developer changed an
expression, saves the model, and redeploys the updated monitor model to the test server.
Because a deployed model exists on the test server, the solution developer chooses to overwrite
the existing J2EE monitor application. The test server will refresh the J2EE application in place
only if which of one the following options is selected?
 
 
 
A. Clean project 
B. Publish to test server 
C. Overwrite existing J2EE project 
D. Automatically republish project to server 
 

Answer: D

Explanation:  

 

 

QUESTION NO: 3 
 
A solution developer wants to record the stream of events from a monitor system. How can the
event recording be enabled?
 
 
 
A. in Business Space 
B. in the Monitor development toolkit 
C. in the WebSphere Application Sever admin console 
D. by running enable Event Recording script 
E. by running configure Event Archiving script 
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Answer: B,C,E

Explanation:  

 

 

QUESTION NO: 4 
 
A solution developer is proposing a Business Activity Monitoring solution for a customer with an
existing claim application. Since the claim application must emit an event in Common Base Event
format, what information should the solution designer expect to be included in this event?
 
 
 
A. Header, timestamp, payload 
B. Timestamp. server IP address, payload 
C. Event server, application name, payload 
D. Event duration, error condition, server name 
 

Answer: A

Explanation:  

 

 

QUESTION NO: 5 
 
The solution developer has created a monitor model with three monitoring contexts. Now the
solution developer has to create a set of KPIs for each of the monitoring contexts. Which of the
following statements is true?
 
 
 
A. Only a single KPI context can be created to hold all the KPIs. 
B. Only a single KPI context has to be created to hold all the KPIs. 
C. Three KPI contexts have to be created, one for each monitoring context. 
D. No KPI context has to be created. KPI context creation is an optional feature to group KPIs if
needed. 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 6 
 
A business analyst wants the Average Claims Processing Time to appear on a business users
dashboard This measure should display when it is on target of 30 days, or better. The analyst also
wants to see if the processing time is particularly fast, less than 10 days, or becoming
unacceptably slow, more than 60 days. Which widget should the solution developer configure on
the dashboards to support the business request?
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A. KPIs widget 
B. Alerts widget 
C. Reports widget 
D. Instances widget 
 

Answer: A

Explanation:  

 

 

QUESTION NO: 7 
 
The Shipping Operations department for an online toy store wants to see the customer name and
billing address for each toy shipment on their dashboard.
 
Which widget should the solution developer configure on the dashboards to support the business
request?
 
 
 
A. KPIs widget 
B. Alerts widget 
C. Reports widget 
D. Instances widget 
 

Answer: D

Explanation:  

 

 

QUESTION NO: 8 
 
The CEO of a company wants to see the average percentage of processes that have a duration of
two days or less. What needs to be created to support such a Key Performance Indicator (KPI)?
 
 
 
A. An event, a duration metric and a counter 
B. Two events, a stopwatch and a double metric 
C. A trigger, a date metric an integer metric set to 
D. Two events, a stopwatch and a duration metric 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 9 
 
The sales department needs to track the number of orders on a monthly basis. How would the
solution developer define the time filter for a KPI to support this requirement?
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